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4.1

0 |Required total bandwidth

T |Committed total bandwidth

C; |Per unit cost of committed bandwidth

C, |Per unit cost of on-demand allocated bandwidth without pre-order

C;’ |Per unit cost of on-demand allocated bandwidth with pre-order

P |Expected profit
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pi |Potential probability of incoming traffic i

N |Maximum possible incoming traffic
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4.2

Ingress Router

T BB Ingress Router (Booking Level)
Ingress Router (committed bandwidth) Ingress
Router T Ingress
Router T T Ingress Router
4.2

0  |Required total bandwidth

T Committed total bandwidth

m; |Per unit overbooked bandwidth

m; |Per unit packet loss penalty

R |Net profit

p(b) |Potential probability of incoming traffic b
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Maximum possible incoming traffic
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